
J116313 

 

 
 
 
 

Installation Instructions 
Description:  BUMPER FOR JEEP WRANGLER JK 2007-2016 

# Description Qty Specification # Description Qty Specification 
○1  bumper 1  ○7  Flat washer 4 D4 
    ○8  Flat washer 4 D6 

○3  Hexagonal nut 2 M4 ○9  Hexagon head bolt 2 M12x30 

○4  Hexagon head bolt-c 4 M6 ○10 Hexagonal nut 6 M12 

○5  Spring washer 2 D4 ○11 Spring washer 8 D12 

○6  Spring washer 4 D6 ○12 Enlarged washer 8 D12 
Installation Steps: 
1：Check if the accessories are complete. 

2： Install the bumper according to the picture. 

3：Tighten all bolts. 

Picture 1 

 

               
 
 



J116313 

 

 
 
 
 
 
 
 
 
 
 
 


